
KaonLT Cross Section 
Breakdown

Richard L. Trotta



Used for all Q2



Q2=3.0, W=2.32

10 iterations



Q2=3.0, W=2.32



Q2=3.0, W=2.32



Q2=3.0, W=2.32



Q2=3.0, W=2.32



Q2=3.0, W=2.32



Q2=3.0, W=2.32



Q2=3.0, W=2.32



Q2=3.0, W=3.14

10 iterations



Q2=3.0, W=3.14



Q2=3.0, W=3.14



Q2=3.0, W=3.14



Q2=3.0, W=3.14



Q2=3.0, W=3.14



Q2=3.0, W=3.14



Q2=3.0, W=3.14



Q2=4.4, W=2.74

10 iterations



Q2=4.4, W=2.74



Q2=4.4, W=2.74



Q2=4.4, W=2.74



Q2=4.4, W=2.74



Q2=4.4, W=2.74



Q2=4.4, W=2.74



Q2=4.4, W=2.74



Q2=5.5, W=3.02

10 iterations



Q2=5.5, W=3.02



Q2=5.5, W=3.02



Q2=5.5, W=3.02



Q2=5.5, W=3.02



Q2=5.5, W=3.02



Q2=5.5, W=3.02



Q2=5.5, W=3.02


